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Broadband

Max. Marks: 80

~~~~~~

(08 Marks)
ant expressmns (08 Marks)

(08 Marks)
Consider a user ﬁkdﬁwnlmk of a cellular system Where the desired base station is at a
distance 0.5 KM and the interfering basex&statlons (1) B; and B, located at a distance of
). B3,’B4 and BS5 located at a.distance of 2 KM  (iii) B6 to B11 treated at a
distance of '36 KM. Each of the stations transmitted power at the same level. Find the SIR
when thé pathi‘loss exponent o = 3 and also when o = 5. (08 Marks)

performed by the receive
Write the block diagragﬁs f

(08 Marks)
,he key points of single user MIMD

(08 Marks)
: é;,D;{Qscuss the radio mterfa j‘protocol stock. of ’TE (08 Marks)
' Write the structure,of downlink resourcé® gwl and explain the types of resource allocation.
(08 Marks)
9 5 & OR
Write the Frame structure Type d explain the various fields applicable to TDD mode.
& (08 Marks)
Discuss the Broadcast chaﬁnels and multicast channels. (08 Marks)
Module-4
With the help of a nedt block diagram, explain the SC-FDMA base band signal generation.
(08 Marks)
Discuss the ra; d ‘access procedures in detail. (08 Marks)
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OR
Explain the seven different transmlsswn modes d
PDSCH channel.
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for data transrmssmn on the
: (07 Marks)
(09 Marks)

(08 Marks)
(08 Marks)

_ons'of the RLC sublayer
S (08 Marks)
(08 Marks)
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USN 10ECS82
Eighth Semester B.E. Degree Examination, Dec.2019/Jan.2020
Time: 3 hrs. Max. Marks:100

ull questions, selecti
estions from each pc

1 a (08 Marks)

b. With a neat dlagram explam he prmmple of operatlon of a four wire mrcult (08 Marks)

c. What is bit interleaving : with examples where are they used.

(04 Marks)

a. (06 Marks)
b. i
(10 Marks)
C. (04 Marks)
a. ing of pure chance traffic and
(10 Marks)
b.
c. A group of 20 trunks
calculate the number of call ingle server and the group as a whole in one
hour period. (04 Marks)
a.
Graded groups
ii)  Availability
iii) Progressive grading
iv) Skipped grading
v) _ Homogeneous gra (10 Marks)

etwork is to connect 600 incoming trunks to 100
bled from blocks of size 5 x 5. Design a suitable
ine the number of switch blocks required. (10 Marks)

stage fully intercon cted switching

" network and det

e PART B
a. With the hel of neat dlagrams explam space switch and time switch. (12 Marks)
b. A T-S-T network has 20 incoming and 20 outgoing PCM highways. Each connecting 30
channels. The required GOS'is 0.01. Find the traffic capacity of the network if
1) Connection is required to a particular free channel on a selected outgoing highway.
ii)  Connection is required to a particular outgoing highway but any free channel on it
may be used (08 Marks)
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Briefly explain the software architecture for the three leve ‘of control of a Digital Switching
System. (10 Marks)
Explain the call forwarding feature with a neat flow (10 Marks)

Explain the methodology for reporting an :rrzec;ting the field problems with a neat

diagram. (06 Marks)
Explain the various causes of digital swit (06 Marks)
Explain the strategy used for improvin (08 Marks)

With neat diagrams, explain line t
call.
Explain some common charac

(12 Marks)
(08 Marks)
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USN

Network Securty

Time: 3 hrs.
Note: Answer any FIV.
at least TWO fu

1 a. Distinguish between passive and active security attacks. E:
and active attacks in brief.

b. Draw the model for networ
designing a security service:

Encrypt the plain te IELLO” using play fair Ci

b.  With an illustrative

kample, explain one tin

c. Encrypt and: decrypt the message “HI

y/4 questtons, selecting

sing Hill Cipher. Given that, Kz[

l
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Max. Marks:100

slain various types of passive

(10 Marks)

curity. Explain its functlon along with the basic tasks in

(10 Marks)

r technlque Given key = EXAM.

(06 Marks)

(06 Marks)

7 .
and
15 12]

(08 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

(10 Marks)

s requlrements‘? Explam direct d1g1ta1 signature and

(10 Marks)

(10 Marks)
(10 Marks)

06 Marks)

(08 Marks)
(06 Marks)

7 a. Give the taxonomy of ma11c1ous programs. What are the various software threats? Explain.

b. What is DDOS? Describé’ the 3 lines of defence against DDOS attacks.

, €xplain digital immune system.
What is a firewall? Describe various types of firewall configurations.

* k %k %k 3k

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)
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USN 10EC843
Eighth Semester B.E. Degree Examinagiof ‘Dec.2019/Jan.2020
Time: 3 hrs. Max. Marks:100
Note: Answer any FIVE full questions, sele tz atleast TWO questién; from each part.
1 a Write anote on 1) NSS (Net Switching Subsystem) ~ i) OMSS (Operation &
Maintenance Subsystem). - (08 Marks)
b. Explain GSM interfaces. ’ (08 Marks)
c. List objectives of GSM PLA (04 Marks)
e B © y
2 a. With three different frequéncies, explain SFH in (08 Marks)
b. List and explain chant borrowmg technlques educe interference in GSM. (08 Marks)
c. Calculate required, minimum received powers for a GSM system having receiver noise
- bandwidth o z, noise figure of 7dBs, S/I ratio of 12dB and kT = -174 dBm/Hz.
(04 Marks)
3 a Writeano on GSM logical channels. (08 Marks)
b. Brieflyexplain : i)’ Normal burst” .11) Access burst , . (08 Marks)
c. Explain Mobile Identification process in GSM. ' (04 Marks)
4 a. With A-Law and p - L W compounded PCM explam Time Domam Waveform Coding.
| 4 o (08 Marks)
b. Write a noté on : i) GSM.Bearer Services __ . 11) ‘GSM TeleserVICes . (08 Marks)
c. With the help of block diagram , explain Full Rate Vocoder. L # (04 Marks)
I PART B
5 a. Explain Mobilgterminated call sceparios. . (08 Marks)
b. With the help f Architecture and Protocol Stack, explam SMS (08 Marks)
g. Brleﬂy explam user to user 51gna11ng data services. «" " (04 Marks)
6 a ‘g;am of a PCS Eystem, explain privacy of communications.

7
c.
8 a.
b.
o

(08 Marks)
(08 Marks)
(04 Marks)

(08 Marks)

R. = one - half frame efficiency of 75% and the symbol rate of the
SACCH - a1 0.1Rs. Thé.cell radius is limited to 5km and maximum processing delay to

90ms. The velocity o C =3 x 10® mps. (08 Marks)
Briefly explain Mobility'models. (04 Marks)
Explain Management requirements for Wireless Networks. (08 Marks)
With Archltecture ‘explain NM interfaces and functionality. (08 Marks)

Write a note on TMN Nodes. (04 Marks)
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